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1,880
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S

U

S
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765
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350
174
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4,298
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A480

01 SLHAbI

OANE=2S
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S

EURCH
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OFHABAFT 6,500
O1-28 1,000,000& »3& 3,000
O3-6= 700,000& »5& 3,500
OAMOL Ol&t A& = 32,400
020124 4177} 30,0009 #45% * 122 16,200
020114 JIZ=3k 30,0002 #45% » 12 16,200

307 212+01 o 24,000 12,600 11,400

01 22 +=Hl 24,000 12,600 11,400
OULE YRt Y 24,000
Ogats HetHl 10,0003 »400H «3& 12,000
Og =0t 2N 15,0003 »400H «2& 12,000

g A2 20,580 22,580 A2,000
3 11,290
= 9,290

A=A 2,000 4,000 A2,000
S 2,000
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01 22+ =Hl 18,580 18,580 0
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= 9,290

02 22 480,578 540, 144 59,566
2 34,025
P 11,038
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st gt Atz el X1 & 65,628 65,628 0
= 32,814
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oolol= Al 3,000& 5004 1,500
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Oggde Al 1,000
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og8dd & Xzl 5,000& 20 100
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Oolol= XIZHl 1,260
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Mok
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M BAA
M BEH 2 MEIA a(BA/2H2Z)
2l ZEdgagael (cte: =<
oIl
A -3 -H2A(SH) - HEAMY - BES O AF K '@Egj Hos
& 1,018
odgold =Xt HZAH|(69Y) 6,208
D) 3,104
& 1,552
= 1,552
el A AAEIA 63,000 140,400 AT7,400
201 LA 3,700 3,600 100
01 At 22l | 700 600 100
OH==xXel <&l 350,000& 2& 700
02 232 3,000 3,000 0
OAN&ZH FXIHI (M3 &EH2I3F) 3,000
307 gI2toI A 47,500 43,000 4,500
01 922+ =l 47,500 43,000 4,500
ZAA A S 7Y 47,500
OY&ZAL AMIY S MO 4,000& +8,000AH 32,000
OuUZHZ At S(EHSAMATS)
2,000& x2,500H4 5,000
O HRCRE AL 15,000& 7004 10,500
405 RtebFE S HI 11,800 93,800 A82,000
01 At =S HSH| 11,800 93,800 A 82,000
OB At ZHl 7€ 11,800
ORF™ M ZXI(UPS) 8,800,000% = 1CH 8,800
OEMA HE(SHII) 1,000,000 +1CH 1,000
OFAE 25 =EHD 2,000,000 *1CH 2,000
grd 2y 2tel 17,780 19,517 A1,737
201 LA 2,020 2,500 2480
01 At 2teltl 2,020 2,500 A480
onolIx & 48 2= MA 2,020
O=2=2 HN& 2,500& 2009 500
O8 =2 M= 60,000& +2& 120
Ostdlol & AR 2T 1,400
301 etz azg 1,000 1,000 0
10 HAAHIE A = 1,000 1,000 0
Ostdlol & A &I 2A42 20,0008 50 1,000
307 QI2tol A 14,760 16,017 AT,257
05 QIZtRIE Z 14,760 15,317 AB57
OFtdldH el AtY 173,636 *85Y 14,760
ZEEYN 2el 268,352 246,035 22,317
101 212 d| 23,894 21,282 2,612
04 JI2ZtHI22HEE+ 23,894 21,282 2,612
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M BAA
HH: DT JRNHIA BA(BA/22A0R)
orol: Loy (EERT
N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
== ° Tl 2 ° . [= Bl e =5 0:”/|l|,% Lsa
Oz 330,000& »32l 990
O +=2UNH 60,0003 x 1474 840
206 T 2t 30,000 30,000 0
01 HZ 4l 30,000 30,000 0
ORMIUILFAS oM & 2,000&*15,000H 30,000
SZEE 2 6,490 9,700 A 3,210
201 L Et2FH| 1,990 2,200 A210
01 AR 2teld| 1,990 2,200 A210
osEs #¢ 1,000 *1,0000H 1,000
ot=zsE 330,000& x32l 990
307 QI2tol ™ 4,500 5,500 A 1,000
01 92+ =l 4,500 5,500 A 1,000
O&A=H 2 E5H2Y 1,000& *1,500H 1,500
oAz s *¢ 3002 %10, 0004 3,000
AL SEAY 387,078 353,936 33,142
| 117,859
= 4,480
= 264,739
SEYEA el (Ex) 227,380 212,642 14,738
J| 113,690
= 113,690
101 @124 d| 221,000 208,470 12,530
J| 110,500
= 110,500
04 DI 2HHl ISR 221,000 208,470 12,530
oYz Bx o22((10g) 221,000
Ol 221,000
| 110,500
= 110,500
201 LBr249H 6,380 2,972 3,408
| 3,190
= 3,190
01 At 2te 6,380 2,972 3,408
o% = a]l 6,380
og Y HEEA0E WEH|
580,000& 11 6,380
| 3,190
= 3,190
assEgEAZ 2 (KHAl) 60,500 42,000 18,500
101 el d| 60,000 42,000 18,000
04 J12+H NSE=+ 60,000 42,000 18,000
OJ|Et (B2, 20, usHl,0d]) 42,000
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M S3EA A2 ANHIA S (E2H/BA22)
el HLSTAY (et &

N Z3 . CA(ZAH) - MPAY - BES Aol a4 T BlusZ
gz Zi=2 18,000
201 et A | 500 0 500
01 At 2teltl 500 0 500
OXESAt 23 2372 500
gEEA2e 74,500 74,290 210
201 ZEt2FH| 5,000 5,000 0
01 AtR2tel 3,000 3,000 0
OsE2 ¥ oMl & HMZE  1,000& +3,0000H 3,000
03 A2 HHI 2,000 2,000 0
OLI=0l At 20,000& 100 2,000
307 2Iz2tol ™ 68,000 67,790 210
01 92 F =l 68,000 67,790 210
OAHLEEotI50% &itelzdl X
1,000,000& *30H 30,000
oAz 28,000
O18MI0ICH THE 2= Hl XI& 10,000
405 AHebE S HI 1,500 1,500 0
01 XML EZFHSHI 1,500 1,500 0
oYEEH 2E1Y 100, 0002 *3Z*5H 1,500
FEHAY 7,560 6,360 1,200
= 3,780
= 3,780
307 gI2tol A 7,560 6,360 1,200
= 3,780
= 3,780
01 =L =H] 7,560 6,360 1,200
O°lzHI XA 200,000& «30H 6,000
= 3,000
i 3,000
od=zss+¢Y 1,560
= 780
= 780
SALAAEY 1,400 1,440 A 40
= 700
= 700
301 etz azg 1,400 1,440 A40
= 700
= 700
10 HAAHIE A= 1,400 1,440 A40
BEAL 2 & 22N 1,400
& 700
i 700
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M BAA
HH: ZIZEA Y MHIA S (BH/2AH98)
SR AL STIAMY (98
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
steA2E A 4,338 4,404 AB6
Jl 2,169
= 2,169
201 L2 1,180 600 580
Il 590
= 590
01 At 22l 1,180 600 580
OSHLRNAEAMNY 2LARS Al
70,0008 »7H +23] 980
Jl 490
= 490
os=2s 7Y 200
p) 100
= 100
307 212+01 o 3,158 3,804 A 646
Il 1,579
= 1,579
01 2L P2 3,158 3,804 A 646
OstEIIFLE2AE 7 3,158
Jl 1,579
= 1,579
steh DIt R ALY 3,000 3,000 0
Jl 2,000
= 1,000
405 XHaHF SH 3,000 3,000 0
Il 2,000
= 1,000
01 A =S HSHI 3,000 3,000 0
OFEHE 7 3,000
Il 2,000
= 1,000
st E ot AL 8,400 9,800 A 1,400
307 el2tol ™ 8,400 9,800 A 1,400
01 2 2€+=Hl 8,400 9,800 1,400
Ott= HAXA 140,000& «60H 8,400
Ot A ghate| 389,903 445,712 255,809
Jl 188,246
= 70,425
= 131,232
SE+4d )58 5,210 11,934 NG, 724
= 2,605
= 2,605
307 21Z2tol & 5,210 11,934 NG, 724
= 2,605
= 2,605
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Z I 5,210 11,934 NG, 724
g2 201 & 5,210
S5 S22y AF| 5,210
2,605
2,605

M

PRI E 45,048 95,812 A50,764
22,524
11,262
11,262

S

Mk

201 L2 4,000 4,000 0
2,000
1,000
1,000

S

EURCH

01 A2 2telH] 4,000 4,000 0
oYHE EE= M 4,000
2,000

1,000
1,000

S

U

403 XX M-S =01 41,048 91,812 A50,764
20,524
10,262
10,262

S

U

J1 2HS 0l CH 8HOH 81 A1 B 41,048 91,812 50,764
x| 9let 41,048
20,524

10,262
10,262

S

EURY

gt 2HI A& 92,876 79,876 13,000

46,438
23,219
23,219

|

Ml H1

201 224 2,000 0 2,000
1,000
500
500

S

Mk

01 AtR2telH 2,000 0 2,000
OEE2= M 2,000
1,000

500
500

S

Mk

307 212+01 o 90,876 79,876 11,000
45,438
22,719
22,719

S

EURCH

01 2 2¢+=Hl 90,876 79,876 11,000
ogsiezdl X& 90,876
Il 45,438
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M BAA
HM: ZZHA . QABAHIA SH(2A/2AAR)
thel: prg & Eete (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
S 22,719
= 22,719
SIAUX G E S X ZHI X & 122,291 125,880 A3,589
Jl 61,145
= 30,573
= 30,573
403 XXM S =01 122,291 125,880 A3,589
Jl 61,145
= 30,573
= 30,573
02 ZJ| 2SO0l CHeHCH & AL I 122,291 125,880 A3,589
OB ALUNLEEEN 22 A 122,291
Jl 61,145
= 30,573
= 30,573
i O 2t A2k e 6,064 6,064 0
Jl 3,032
= 1,516
= 1,516
307 212+01 o 6,064 6,064 0
Il 3,032
S 1,516
= 1,516
01 2€ =l 6,064 6,064 0
OIS & 2tE 7Y 6,064
Il 3,032
S 1,516
= 1,516
FagAze] 8,200 8,200 0
201 24 5,200 5,200 0
01 At 22l 5,200 5,200 0
OZA . XY s2=57Y 1,000
oFdEAY (M)A E
70,0003 x5EH x123| 4,200
307 212+01 A 3,000 3,000 0
04 CIZHHALE & 3,000 3,000 0
OBAFN HESUHIIHA XA 3,000
XX =2el K& 44,920 52,000 7,080
Jl 22,460
= 22,460
201 der2a| 1,300 0 1,300
Jl 650
= 650
01 AtR2telH 1,300 0 1,300
OXlf 22l =2l 1,300
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S
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47,294
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